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1. Itis mandatory to fill one option for each question.

2. All questions carry equal marks.

3.  Only one answer is to be given for each question. If more than
one answers are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet.
When you are directed to open the Question Booklet, take out
the Answer Sheet and fill in the particulars carefully with Blue
Ball Point Pen only.

5. Please correctly fill your Roll Number in OMR Answer Sheet.
Candidates will themselves be responsible for filling wrong
Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
Sheet is strictly forbidden.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8. Each question has five options marked as 1,2,3,4,5. You
have to darken only onme circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9.  Ifyou are not attempting a question then you have to darken

. the circle ‘5°. If none of the five circles is darkened, one third
(1/3) part of the marks of question shall be deducted.

10.* After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this.

11. A candidate who has not darkened any of the five circles in
more than 10% questions shall be disqualified. 3

12. I there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

13. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in hisher possession, F.LR. would be lodged against

him/her in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Act, 2022 & any other laws

applicable and Commission’s Rules-Regulations. Commission may

also debar him/her permanently from all future examinations,
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1. - Afg 20 wEA xl, s

s X0 T HHIRR

-M)

1 0
@ 1 3 ST IO A
3 M

19M
1Y e
4 20

(5) TG SR

Ife T FrEmfia Aoft 1 TgA Suh WTEA
¥ 12 fre B, A Sgers Iuh! AT @
fram ot 2 ?

(1) 4
@2) 6
(3) 8
4) 10

(5) TG FH

JgeA+BHIALF A BRI
AxBHaigfs A Bhioeiig; A+B
AP A Bei g, A- B
Ff 6 A, B ? | FrafeiRea & @
o gl i 2R T, PRI 91 8 7
1) PxQ+R+S-T

2) PxQ+R-T+S

(3 PxQ+R+T-8

() PxQ+R+S+T

(5) g e

[ —————E R P A

If arithmetic mean of 20 numbers
X1, Xgy +eeeny Xgg 18 M, then the value
I % (x; —M)

i=1
.9
21
3 M

19M
4 50

(5) Question not attempted

If mode of an asymmetric series
exceeds its mean by 12, then mode
exceeds its median by

(1) 4

2) 6

(3) 8

(4) 10

(5) Question not attempted

If A + B means A is the sister of B;
A x Bmeans A is the wifeof B; A+ B
means A is the father of B; A - B
means A is the brother of B. Which
of the following exactly means T is
the daughter of P ?

1N PxQ+R+S-T
2 PxQ+R-T+S
B)PxQ+R+T-S
4 PxQ+R+S+T
(5) Question not attempted
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afé 9gIC axZ+bx+c(@#b #c) F
Y1 HT A, YR b I H AT H
TR, A iR aae ?

(1) ab + b2 = 2ac
(2) bc+c2=2ab
(8) ca + a2 =2bc
(4) a?+b2=2bc

(5) IrFaRa ¥

TH §gIE Bl (—x2 + x — 1) ¥ R
FE W TFHA (x — 2) 3R A9%eT 3 I
BATR | TEIC R :

(1) x*+3x2+3x-5
(2) -x®—8x2-8x-5
() =« +3x2-38x+5
(4) x®*—3x2+3x+5

(5) IrFaiRa e

afe 9" x 32 x(3”“"2T2 -2 =i_t~;f
33mx23 27 2
Wm-— nﬁﬂqﬁ%:

1)1
@) o
3) 3 _

@3

(5) IrFaiRa I

w e e e e e b ——— ——

If sum of the zeroes of polynomial
ax? + bx +c (a#b #c) be equal to
the sum of the squares of the
zeroes, then which of the following
is true ?

(1) ab +b2=2ac

(2) be +c¢%=2ab

(3) ca+a2=2bc

(4) a2+ b2%=2bc

(5) Question not attempted

A polynomial is divided by (2 + x— 1)
and it gives quotient (x — 2) and
remainder 3. The polynomial is :

(1) x*+3x2+3x-5

(2) —a%—-3x2-38x-5

(8) x3+3x2—3x+5

(4) x¥3-3x2+3x+5

(5) Question not attempted

0" x82x(3 2] @ 1
gim o8 27

then the value of m —n is:

(1) 1

@) o

3) 3

If

@

(5) Question not attempted




7.

Th AT AT $ Thid I8 H1 HAHA
4400 912 § 3R 38& AR H gy
1108 2 | S HT AT 2 :

(1) 19250 a3
(2) 38500 {3
(3) 57750 B3

(4) 77000 &3

(5) ITgaia T

T @rEen Mol e aie 9 9™
T AN 4 9t 9 8 Tft €, Y e
HUR = 8 Ut & wig F1 Fmior R
m%,ﬁ?@ﬁfﬁlﬁ%

(1) 12 &
(2) 14 &
(3) 16 @t
(4) 18 &+t
(5) g S

T T T 9 # quia: weted () R | l 9.

A T T % STIAH] b1 3T & ¢
(1) 8:4n
(2) 4:3n
3) 6:7
4 4:=n

(5) IFeRa I

The area of the curved surface of a

right circular cylinder is 4400 cm?
and the circumference of its base is
110 cm. Volume of the cylinder is :

(1) 19250 cm?3
(2) 38500 cm3
3) 57750 cm?
(4) 77000 cm?®
(5) Question not attempted

A hollow sphere of internal and
external diameter 4 cm and 8 cm
respectively, is melted into a cone
of base diameter 8 cm, then height
of cone is :

(1) 12cm
(2) 14cm
(3) 16 cm
(4) 18 cm
(5) Question not attempted

A sphere is exactly fit in a cube.
The ratio of volume of cube and

sphere is :
(1) 3:4n
(2) 4:3n
B) 6:m
4 4:=n

(5) Question not attempted
OE




10.

11,

12.

13.

14.

15.

16.

OE

‘T IIT I WG & —
(1) 3E
ORIES]

(5) 3rgaiRa Fw=

(2) TEg
(4) g

frafafen & & #F @ fepey s

TIeg % T & vl A wEt T R ¢

(1) grn —wag, 9fg, fem

(2) T —@H, YR, =

(3) WHTE — 9T, 3THY, STIAE

(4) T — &1, g, U

(5) IrgTid I

fFrafafe o @ e fRees & oft w=e
687

(1) Iy, R, i, g8

(2) anefy, aitfyry, g, 98

(3) ufve, aftE, Ay, 1fs

(4) 3nfts, faftms, wge, 9

(5) 3TN S

IS Ui ‘Creamy layer’ @
gl B e & —

(1) 3=maEa (2 Fgaa
(3) ST a  (4) JauATEa i
(5? SATARG T

gETa fespea gfae :

(1) AT = T + TS
(2) STTE™T = 1d + 91
(3) 4d + W& = g=a8TA
(4) W& + 35 =2

(5) ITFTRa A

Choose the most appropriate
preposition for the blank :

all her qualifications Rajni
performed poorly at the interview.
(1) For (2) Over
(3) About (4) Before
(6) Question not attempted

Choose the correct tense form of
the verbs in brackets :
I (sleep) soundly when a loud cry in
the street (wake) me up.

1) was sleeping, wake

2) was sleeping, woke

3) sleep, woke

4) am sleeping, woke

5) Question not attempted

18.

l 19.

17.

Choose the incorrect sentences :

A. Neither the teacher nor the
students were present in the
class.

The CEO and owner of the
company are attending the
conference.

C. The cattle were grazing in the
pastures.

Each of the students are
responsible for keeping the
class clean.

(1) Aand B (2) Aand C

(3) Band D (4) Cand D

(5) Question not attempted

D.

Match the words in Column A with
their meaning/synonyms in
Column B :
Column A
a. dying

b. dyeing
c. reign

d. rein

Column B
(1) rule
(ii) ceasing to be alive
(iii)) means of control
(iv) colour by dipping
in liquid
c-(i), d-(iii)
c-(iii), d-(3)

(1) a-@), b-(iv),
(2) a-(iv), b-(ii),
(3) a-(iv), b-(ii), c-(i), d-(iii)
(4) a-(ii), b-(iii), c-(iv), d-@)
(5) Question not attempted

Choose the correct indirect

narration of the following sentence :

He said, “I bought this new car last

month.”

(1) He said that I bought this new
car last month.

(2) He said that he bought this
new car last month.

(3) He said that he had bought this
new car the previous month.

(4) He said that he had bought that
new car the previous month.

(5) Question not attempted

—
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e 2025 ¥ ey famE % fog
nfsa afufet % foe i I 9 e 11
%! gifera e e gfa -
e I e 11
(afifa) (@vmafe)
A) TR TESED (1) ShetTre S|
et giafa -
(B) arfee T (i) TR T
HeER Gt
(O v Eed  (idi) @ I
gfufe
A) B) (O

21.

M) G G (i)
@) (i) (i) @)
@) G @ @)
@ G) @ (i)
(5) SrgaiRd I

TSR ST et uiferdt 2025 % wed 3
o= FeFl W e Hifve @ @@ fasen
i :

FUTA : T q&a 100 FS ¥ A
frew +1 Tt vger I ST dR H
25% Al TS 3afed e I
TR | |

FEB ;W GRE ¥ ek d
Tlegy $afea F T H T 12.5 HIS
T 50% TTHT A HTIEIE 2 |

(1) ST AIRBeHI g € |

Q) FTAFTATIR |

(B) FTAFITBTAE |

(4) 97 A IR BIH ETE |

(5) JAgTRE 9=

20.

Match Column I and Column II
and choose the correct option for
the committees formed for the
Rajasthan Legislative Assembly in

April 2025 :
Column I Column I1
(Committee) (Chairman)
(A) General (1) Kailash Chand
Purposes - Verma
Committee
(B) Committee  (ii) Vasudev
on Petitions Devnani
and Ethics
(C) Question (iil) Sandeep
and Sharma
Reference
Committee
A) B) (©)

21.

1) O @ (@)
(2) @ @) @
@) ) @O @@
(4) (@) @O (@)
(5) Question not attempted

Consider the following statements

with reference to Rajasthan Data

Center Policy 2025 and choose the

correct option :

Statement A : Under this, there is

a provision to give 25% additional

Sunrise Incentive to the first three

data centers investing more than

100 crores.

Statement B : Under this policy,

there is a provision to reimburse

50% up to ¥ 12.5 crore as Green

Solution Incentive.

(1) Both statements A and B are
true. :

(2) Only statement A is true.

(3) Only statement B is true.

(4) Both statements A and B are
false.

(5) Question not attempted
OE
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23.

24,

OE

@ W A1q @ TEwa Ry @ W
TS T = ST AREH Y& v i |
ESRCIERIEEI RN C R

(1) T oM, Jmemgel sifysy
(2) %Y YA, ATIMYUT sfersy
(3) &Y 4T, Srremqut wiersy
(4) e 3Ted, gt Wiy
(5) rgaRa s

IHIHT-ATd AEEqY TER  wEwi
(AIKEYME) 2025 T 3Trir T35

(1) «rm, Agsitien #

(2) sHuTe, e |

(8) 31T, BT H

(4) TR-3rE-TeAH, Fsiifv &
(5) IrguRa S

FR-FEd vy (1 ) h 1505 T
58 9 37, 2025 T el ST g ?

(1) wient (w)

(2) v (ATeferam)

(3) Ui ()

(4) ATehe (SSfREAT)
(5) rFaNd I

22. A year-long campaign on maternal

23.

and newborn health was launched
on World Health Day celebrated on
7 April, 2025. The title of this

campaign is :
(1) Healthy Foods, Hopeful futures

(2) Healthy beginnings, Hopeful
futures

(3) Healthy Mother, Hopeful futures
(4) Healthy habits, Hopeful futures
(5) Question not attempted

The Africa-India Key Maritime
Engagement (AIKEYME) 2025 was
organized at :

(1) Lagos, Nigeria

(2) Kampala, Uganda

(3) Accra, Ghana

(4) Dar-es-Salaam, Tanzania

(6) Question not attempted

. Where was the 150t assembly of

Inter-Parliamentary Union (IPU)
held from 5 to 9 April, 2025 ?

(1) Moscow (Russia)

(2) Perth (Australia)

(3) Paris (France)

(4) Tashkent (Uzbekistan)

(6) Question not attempted




25.

26.

(5) g A

frefafad FuEl W imm R
(i) weaq HHR hl AN WHE §9 @
Heheurd Toreell el I Ugell R

e 2025 H THH & UG
gy e s A @ T o1 |

(i) 2021 #, THT T=efa S R FHE
g, & AR SeEy  REdd
TR X e H1 AW TR F9 |
Tehed Tl o gt § e |

IR T U FHEI B /A T /R ?

(1) e (i)

(2) 3 (i)

(3) (i) 3K (if) S .

(4) T @) IR (i)

(5) I S

T FFEUH T e e T R

AR WeHH 1 T8el S e fha |

79 g §, Frefafea el W fomm %t
ﬁﬂﬁﬁmﬁﬁ

FUTA : 3 WS, 2025 T W b
R A THH GEA IeH W
Fherarget gireger fehm T |

U B : T thae fecfialt fed
IJgeaie Yefewde, ITRMT g
frpfa P 2 |

(1) FHAIRBAF TAE |

(2 FTAFHATIR |

(3) FaTFUTBAAE |

(4) %Y A 3R B A1 T E |

L R ————— R

25.

26.

Consider the following statements :

(i) Caracal, a medium-sized and
locally threatened cat, was
seen for the first time in
Ramgarh  Vishdhari Tiger
Reserve of Rajasthan in April
2025. :

(ii) In 2021, the National Board for
Wildlife and Union Ministry of
Environment, Forest and
Climate Change added
Caracal’'s name to the list of
critically endangered species.

Which of the statements given
above is/are correct ?

(1) @) only

(2) (i1) only

(3) Both (i) and (ii)

(4) Neither (i) nor (ii)

(5) Question not attempted

Defence Research and Development
Organisation conducted maiden
flight trials of Stratospheric
Airship Platform. In this context,
consider the following statements
and choose the correct option :
Statement A : Its first flight trial
was successfully carried out from
Sheopur in Madhya Pradesh on
3 May, 2025. -
Statement B : It is developed by
the Aerial Delivery Research and
Development Establishment, Agra.

(1) Both statements A and B are
true.

(2) Only statement A is true.
(3) Only statement B is true.

(4) Both statements A and B are
false.

(5) Question not attempted
OE
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28.

29.

OE

frafafea & @ a9 T e Sl :
A TR A e 7 gEAwH 3%
A FaEH 7

(1) Qe g

(2) . fosmm Aoy

(3) %. IET™

(4) &fa =g

(5) ITFTRG S

A 2025 # IR S 3R

2025 H TR % Weid & wey 3

Frferfe & & 1 a1 wom e 7 R 2

(1) TSEIM 7 ¥ et & s @t 3k
Th I UG i |

(2) TS A U wRfea # dieg w@n,
9Igg T 3N HieTe 1 e o |

(3) T 3 ¥ yfen # W ot 3
3R fi7 i ges S |

(4) TSRYM 3 A Sefiien § w @t 3kt
T S e Sffa |

(6) FFafE I

e e wfe ds sraE (1ASA)

2025 % fore fmferfaa et w e st

FYTA : FHEETR 3 e AR l
FeT 7 TEHR A1 | |

F B : dfers wfie B @y 3k
fhera aoft & wedm srife i
HRIHT HT [EHR 137 7T |

(1) FFAIRBIA g § |

(2) FTABITATAR |

(38) FAFUTBEAR |

(4) &Y A 31 B i s § |

(5) 3 g¥

m u——‘mm__—

217.

28.

29.

Who among the following is the
author of ‘The Great Conciliator :
Lal Bahadur Shastri and the
Transformation of India’ ?

(1) Errol D’Cruz

(2) Dr. Vikram Mathew

(3) K. Arumugam

(4) Sénjeev'Chopra

(5) Question not attempted

Which one of the following
statement is NOT true regarding
performance of Rajasthan in Khelo
India Para Games 2025 held in
March 2025 ?

(1) Rajasthan won one gold and
one bronze medal in Para
Archery.

(2) Rajasthan won sixteen gold,
fourteen silver and sixteen
bronze medals in Para
Athletics.

(3) Rajasthan won four gold, two
silver and three bronze medals
in Para Shooting.

(4) Rajasthan won one gold and
one bronze medal in Para
Badminton.

(6) Question not attempted

Consider the following statements

for "India Audio Summit and

Awards (IASA) 2025 and choose

the correct option :

Statement A : Akashvani won a

total of 7 awards in various

categories.

Statement B ‘Public speak’

awarded the best audio streaming

programme in health and fitness

category.

(1) Both statements A and B are
true.

(2) Only statement A is true.

(3) Only statement B is true.

(4) Both statements A and B are
false.

(5) Question not attempted



30.

31.

32.

33.

34.

Ferd § hTei <Y T STEEATR :
(1) sp? (2) sp?
(3) d2sp?® (4) sp3d?

(5) FFENA TH

4 kg TN I T g fdt aiuEH
& A9 W 4 ms~! & frea 3 & feae
@ ® | 38 g Y el 3 | f s W@
% fore e T R -

(1) I (2) 4N

(3) 8N (4) 16 N

(5) I S

T RIS 3 HFa Td JHR T HRU 3 ©
(1) herel IR@T (2) Weaa ARE

(3) Fat ARET (4) S (3Q) AR
(5) 3T A

el S - Farfreran e 3 aftifera & -

(a) e GaE YTEH

(b) THUH TSRl I I NTH(AH
e 3 g TET S R |

( wigfwm

(d) gweht o1 FraTd TReE

IAF FHUAT H q@d g¢ Ffeiea # @

PR Tt g ?

(1) %= (a), (b)

(2) ¥ (b), (¢), (d)

(3) %a (a), (b), (d)

(4) 9 (a), (0), (d)

(5) TG A

2 Ry T sttt ¥ g d A Dt S
ﬂ‘ﬁﬂﬁ%ﬁlﬁt{:

(1) 04, H,0 (2) CO,, NH,

(3) H,, N, (4) CO, P,

(5) IrFaRE S=A

10

30.

31.

32.

33.

|
| 34
|
I
|
l

(1) zero
- (3) 8N

The hybridized state of carbon in
Fullerene is :

(1) sp? (@) sp?

(3) d?sp? (4) sp®d?

(5) Question not attempted

An object of mass 4 kg is sliding
with a constant velocity of 4 ms™!
on a frictionless horizontal table.
The force required to keep the
object moving with the same
velocity is :

(2) 4N

(4) 16 N

(5) Question not attempted

The contraction and relaxation of
blood vessels is due to :

(1) Skeletal muscles

(2) Striated muscles

(3) Smooth muscles

(4) Cardiac muscles

(5) Question not attempted

Ex-situ biodiversity conservation

includes :

(a) tissue culture propagation

(b) endangered species are protected
in their natural habitat

(¢) In-vitro fertilization

(d) Cryopreservation of gametes

In view of above statements, which

of the following option is correct ?

(1) Only (a), (b)

(2) Only (b), (c), (d)

(3) Only (), (), (@)

(4) Only (a)! (C), (d)

(5) Question not attempted

Identify the pair of compounds
from the pairs of molecules given
below :
(1) 04, H,0 (2) CO,, NHq
3 Hy, N, (4) CO, P,
(5) Question not attempted

OE
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35.

36.

37.

Consider the following statements
regarding process of the
Presidential Election in India :

(D) In the Presidential Election,
the nomination form of the
candidate must have the
signatures of at least fifty
electors as proposers and at
least fifty electors as seconders.

(II) A candidate shall not be
deemed to be duly nominated
for election unless he deposits
or causes to be deposited a sum
of Twenty-five thousand
rupees.

Choose the correct option :

(1) Only (I) is correct.

(2) Only (II) is correct.

(3) Both (I) and (II) are correct.

(4) Neither (I) nor (II) is correct.

(6) Question not attempted

According to the Government of

India (Allocation of Business)

Rules, 1961, which of the following

Ministries is responsible for

framing of Code of Conduct for

Ministers of the Union ?

(1) Ministry of Home Affairs

(2) Ministry of Finance

(3) Ministry of Parliamentary
Affairs

(4) Ministry of Personnel, Public
Grievances and Pensions

(5) Question not attempted

“We have always said that our
Socialism is our own kind. We will
nationalize only those organs
which we consider necessary.”

Who said the above statement in
context of the characteristics of
Constitution of India ?

(1) Jawaharlal Nehru

(2) Rammanohar Lohiya

(38) Jaiprakash Narain

(4) Indira Gandhi

(5) Question not attempted
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38.

Who among the following Chief
Justices of the Supreme Court of
India has not held the office of the
Chief Justice in any High Court of
India ?

(1) Justice D.Y. Chandrachud

(2) Justice V.N. Khare

(3) Justice U.U. Lalit

(4) Justice M.H. Beg

(5) Question not attempted

Which among the

statements is not correct ?

(1) Rajasthan’s area is 10.41
percent ‘of the total area of
country.

(2) The North-South extension of

Rajasthan is 869 km.

following

(3) Rajasthan is located in North-

Western part of country.

(4) The total length of the State
boundary of Rajasthan is 5920
km.

(5) Question not attempted

Who has the right to determine the
election process of members of the
Union Territory in the
Sabha in India ?

(1) Parliament

Rajya

(2) Election Commission of India
(3) The particular Union Territory

(4) The Election Commission of
particular Union Territory

(5) Question not attempted
OE
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41.

42.

43.

e - W W “iieare R | 44,

Which of the following rivers is a

tributary of Sabarmati ?
(1) Mazam (2) Chap :
(3) Sagi (4) Gambhiri

(5) Question not attempted

Which group of districts receives
rainfall between 500 and 600 mm
during monsoon rains (from Mid-
June to September) ?

(1) Ajmer, Pali, Rajsamand, Churu
(2) Udaipur, Rajsamand, Jaipur,

Alwar

(3) Ajmer, Udaipur, Jaipur, Bundi
(4)° Udaipur, Jaipur, Bundi, Alwar
(5). Question not attempted

Which among the following
district/districts of Rajasthan
recorded Decadal growth rate of
population of more than 30 percent
during 2001-2011 ?

(A) Barmer (B) Jaisalmer
(C) Banswara

Select the correct answer from the
codes given below :

Codes :

(1) (A), (B) and (C)

(2) Only (A)

(3) (A) and (B)

(4) (B) and (C)

(5) Question not attempted
Which physiographic region is
called the “Godwar Region” ?
(1) Eastern Plains

(2) Luni-Jawai Basin

(8) Shekhawati Region

(4) Chambal Basin

(5) Question not attempted
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45.

46.

Ogaowp»

Match List-I with List-II and select
the correct answer from the codes
given below :

List-I List-I1

(Breeds) (Animals)
A. Marwari 1. Camel
B. Mewari ii. Sheep
C. Mewati iii. Cow
D. Surti iv. Buffalo
Codes:

A B € D
e el iv
(DY iE gy o0 L S
@) i 1 ad
(4) iv. il 1

(5) Question not attempted

Match Column-I with Column-II
and select the correct answer from
the codes given below :

Column-I Column-II
(Minerals) (Mining Area)
. Copper i. Raisal
. Lead and Zinc ii. Kala Khuta
. Manganese iii. Kolhan
. Iron-ore iv. Rajpura-Dariba
Codes:
A B -C D
(1) M= 1V e
@) il N
(B)iv: 1 neos
() =1 gl peivesin

(5) Question not attempted

. “Raj-171” is a variety of which of

the following crops ! ?
(1) Rice
(2) Wheat
(3) Pearl Millet (Bajra)
(4) Maize
(5) Question not attempted
OE
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48.

49.

50.

New National Highway-52 (NH-52),
does not pass through which among
the following cities of Rajasthan ?
(1) Tonk (2) Kota

(3) Bundi (4) Baran

(5) Question not attempted

Which of the following basic
assumption is not related to the

Vygotsky’s theory of -cognitive
development ?
(1) Challenging tasks promote

maximum cognitive growth.

(2) Children can accomplish more
difficult tasks when assisted by
more advanced and competent

- individuals.

(3) Children appropriate their
culture’s tools in their own
idiosyncratic manner.

(4) Interaction with one’s physical
environment is essential for
cognitive development.

(5) Question not attempted

Match Column-I with Column-II
and select the correct answer from
the codes given below :

Column-I Column-II

(Place) (Solar Energy

, Projects)
A. Nagaur 1. Agoria
B. Jhunjhunu ii. Dhonia
C. Jodhpur iii. Gaureer
D. Barmer iv. Khinvser
Codes :

Az Ba C D
(a1 ni iy
@)anisendic: a1 iy
@) iv. i 1 i
4 i i diediw

(5) Question not attempted
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51.

52.

53.

16

Which defense mechanism involves
reverting to earlier behaviour ?

(1) Repression

(2) Regression

(3) Displacement

(4) Projection

(5) Question not attempted

Which of the following statement is
not correct regarding emotional
intelligence ?

(1) Emotional intelligence helps in
understanding emotions and
controlling and managing them
properly.

(2) Emotional intelligence is a
cognitive ability.

(3) People with emotional
intelligence are usually
balanced, enthusiastic and
sympathetic.

(4) Emotional intelligence includes
self-awareness, self-motivation
and conflict solving abilities.

(5)- Question not attempted

Which one of the following is not a
determinant of Insight learning ?

(1) Self-concept
(2) Intelligence
(3) Experience

(4) Initial efforts

- (5) Question not attempted

OE
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94.

55.

56.

Which one
statement is
supervision ?
(1) It is formal.
(2) It is a continuous process.

of the following
correct regarding

(3) It is meant for a short duration.
(4) It is to direct the subordinates.
(5) Question not attempted

Which of the following statement

regarding DIKSHA is not correct ?

(1) DIKSHA, an initiative of
NCERT, is a national platform
for school education.

(2) Students and teachers from all
over the country can benefit

through DIKSHA.

(3) DIKSHA has been declared as
One Nation, One Digital
Platform.

(4) DIKSHA was launched in
September 2018.

(5) Question not attempted

The functions of educational

management include —

(A) Planning

(B) Policy making

(C) Coordinating

(D) Reviewing

Select the correct answer using the

codes given below :

(1) (A) and (B) are correct, but not
(C) and (D).

(2) Only (C) is correct, but not (A),
(B) and (D).

(3) (A) and (C) are correct, but not
(B) and (D).

4) A), B), (C) and (D) all are
correct.

(5) Question not attempted
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57.

58.

59.

Under the RTE Act, 2009, a child
has a fundamental right to get
admission in —

(1) Government school only
(2) Private school only

(3) Minority school only

(4) All schools

(5) Question not attempted

Section 25 of the RTE Act, 2009
deals with —

(1) Constitution of National

Advisory Council
(2) School Development Plan

(8) Power of Central Government
to remove difficulties

(4) Pupil-Teacher ratio

(5) Question not attempted

What is the-main objective of the
“Shiksha (Rajasthan)
Programme ?

Darshan”

(1) Conducting only online classes.

(2) Providing audio-visual learning
content for students.

(3) Preparing students only for
exams.

(4) Setting up Smart classes in all
schools.

(5) Question not attempted
OE
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60.

61.

Who is the author of ‘The New
Economic Menace to India’ ?

(1) Bankim Chandra

(2) Bal Gangadhar Tilak
(3) Bipin Chandra Pal
(4) V.D. Savarkar

(5) Question not attempted

Assertion (A) : Raja Ram Mohan
Roy founded Brahmo Samaj;
not in opposition to sublime
ideas and principles - of
Hinduism.

Reason (R) : His aim was to
liberalize @ and  rationalize
Hinduism to make it more
adaptive to the modern world.

(1) Bth (A) and (®R) are
individually true and (R) is the
correct explanation of (A).

(2) Both- (A) and (R) are
individually true, but (R) is not
the correct explanation of (A).

(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
(5) Question not attempted

Tansen, a prominent musician of
Akbar’s ‘court represented which

style of singing ?
(1) Tarana (2) Dhrupad
(3) Thumri (4) Khayal

(5) Question not attempted
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63.

64.

Which of the statement regarding
the fire altars of Kalibanga is
incorrect ?

(1) The fire altars are found on the
west mound.

(2) The altars are located on raised
platforms of mud bricks.

(3) Each fire altar has a triangular
shaped fire pit.

(4) Wells built near the fire altars

indicate that religious
ceremonies were performed
here.

(5) Question not attempted

Which Parmar ruler of Malwa was
defeated by Arnoraj and annexed
the Uparmal territory to his state ?

(1) Naravarma
(2) Siddhraj

(8) Vikram Singh
(4) Ballal

(5) Question not attempted

Who left the membership of
Congress in protest against Gandhi’s
Non-Cooperation Movement proposal
in Nagpur session of 1920 ?

(1) Bipin Chandra Pal and Annie

Besant

(2) Madan Mohan Malaviya and
C.R. Das

(3) Mohammed Ali Jinnah
(4) Lala Lajpat Rai

(5) Question not attempted
OE
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66. Rawat Kesari Singh was

67.

68.

the
thikanedar of which place during
the revolution of 1857 ?

(1) Kothariya

(2) Salumbar

(3) Bhindar

(4) Kharwa

(5) Question not attempted

Who among the following actively -
participated in the programmes of
Civil Disobedience Movement in
Ajmer ?

A. Gokul Rao Asawa

B. Master Laxmi Narain
C. Chandrabhan Sharma
D. Krishan Gopal Garg
Choose the correct answer :
(1) Aand B

(2) Band C

3) Cand D

(4) A,B,Cand D

(5) Question not attempted

Name the person who escorted
injured Maharana Sanga from
battle field of Khanwa to Basawa
safely.

(1) Chandrabhan Chouhan
(2) Karamchand

(3) Prithviraj

(4) Hasan Khan Mewati
(5) Question not attempted
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69.

70.

71,

Which of the following Fort can be
entered through one way only ?

(1) Kumbhalgarh Fort

(2) Juna Fort

(8) Chittorgarh Fort

(4) Amber Fort

(5) Question not attempted

Where was the ‘Hindustan
Socialist Republican Association’
established ?

(1) Firozshah Kotla, Delhi

(2) Gokuldas Tejpal
College, Bombay

(3) Town Hall, Calcutta
(4) Azad Ground, Bombay
(5) Question not attempted

Sanskrit

What name is given to men in
Geendad dance who perform in
women clothes ?

(1) Gairiye
(2) Bajigar
(3) Bajia

. (4) Gangaur

(5) Question not attempted

In 1946, which State Prajamandal
organised a conference at Kheda
Mangal Singh on the miserable
condition of peasants ?

(1) Banswara
(2) Dungarpur
(3) Alwar
(4) Bharatpur
(5) Question not attempted
OE



73.

74.

75.

OE

R b T weEa g F ogwm gl

Tt <1 o o femer 3 Ream o 7
(1) Bl T& Fiferrm

(2) THATETE T T

(3) 1ol wH Rragr

(4) woTed TH THEAWH

(5) IgaiE g

=1 goft w1 v Ue R

Z1A, X2D, V6G, T21J, R88M, ?

---------

73. Which painter painted

74.

‘Durga
Saptashati’ during the time of Raja
Balwant Singh of Alwar ?

(1) Chotelal and Saligram

(2) Jamunadas and Nandram
(3) Daluram and Shivkumar
(4) Baldev and Baksaram

(5) Question not attempted

Next term of the following series is :
Z1A, X2D, V6G, T21J, R88M, ?

---------

e (1) P445Q
(2) P440P (2) P440P
(3) Q440P (3) Q440P
(4) P445P (4) P445P
(5) FAgaRa I (5) Question not attempted
39 TS HT &7 99 o7 ﬁ'é gSgalt 3 | 76. What was the name of the King
Jmsfiaie 30 T 79T TR Ht IUER A femy { whom Harbuji blessed and also
e l gifted his dagger ?
(1) Ta i , (1) Rao Jodha
(2) T Haw | (2) Rao Satal
(8) TEHw { (3) Rao Suja
@) mmﬁaﬂ f (4) RaoMaldeo
(5) rFaia S | (5} Question not attempted
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